Probability

m Time allowed: 45 minutes.
B Part A: 20 multiple-choice questions (40 marks)
m Part B: 10 free-response questions (60 marks)

Part A

9 The set of all possible outcomes of a

20 multiple-choice questions
2 marks each: 40 marks
Circle the correct answer.

1 How many different outcomes are possible

when a coin is tossed?

A6 B 4

Ct D2

How many hearts cards are there in a normal
deck of cards?

A 12 B 13

C 10 D 52

What is the probability of a baby being born
on a weekday rather than on a weekend?

A B

C D

Which term best describes the chance of
rolling an odd number on a die?

A impossible B improbable
C even chance D likely
The probability that it will rain this weekend

is 33%. What is the probability that it will
not rain?

A 66% B 77%

C 33% D 67%

The probability of a ‘certain’ event is:
Al B -1

co D 10

On this spinner, what is

the probability of spinning

a3or4?

A 03 B 0.7

C 05 D 0.6

On the above spinner, what is the probability
of spinning a number greater than 67

A B

C D

situation is called the:

A experiment

B complementary event

C sample space

D likelihood

What is the probability that a person chosen

at random has a birthday in a month
beginning with J?

1
A g

B
C . D ;
What is the complementary event fo drawing
a red card from a deck of cards?
A drawing a hearts or spades card
B drawing a hearts or diamonds card
C drawing a clubs or diamonds card
D drawing a clubs or spades card

The lowest possible value of a probability is:
A -1 B0
C 01 D1

Five students — Henry, Irene, Jack, Kathy
and Lisa write their names on separate cards.
One card is chosen at random, What is the
probability that a boy’s name is chosen?

A B
C D

One ticket is drawn outf at random from a box
of blue, orange, green, red and yellow raifle
tickets, The chance of drawing a blue ticket
is ;—g . The chance of drawing an
orange ticket is 22 . What is the probability
of drawing out a blue or orange ticket?

4 44
A 5 B 5

22 2
What is the probability that the ticket drawn
in Question 14 is not blue or orange?

47 59
A 25 B 2

31 56
C 5 D 3%




Topic test 5: Probability continued

16 H the box in Question 14 actually contains 22 (8 marks) A jar contains 8 red iollies, 10

300 tickets, how many would you expect to
be orange?

A1l B 37
C 84 D 112

Which term is different to the other three?
A probable B almost certain

C unlikely D good chance
There are 400 raffle tickets in a competition.

Jenny buys 8 tickets. What is the probability
that she wins first prize?

A 02 B 0.005

C 0.02 b 0.0025

What is the probability Jenny doesn’t win
first prize?

A 0.9825 B 0.98

C 095 D 0.9975

The sum of the probability of an event
occurring and the probability of the same
event not occurring is equal to:

A B O
C

D1

Part B
10 free-response guestions
60 marks
Show working where appropriate.

(6 marks) Rate each of the following events

as being: unlikely, likely, certain,

impossible or even chance.

a A double 6 comes up when you roll two
dice.

b You driving a car in 10 years time.

¢ There were cars on the Sydney Harbour
Bridge this morning.

green lollies, 6 yellow lollies and 6 white
lollies. One lolly is chosen at random from
the jar. Calculate as a simple fraction the
probability that the chosen lolly is:

a green

b red or green

¢ blue

d not white

(10 marks)

a List all possible outcomes when a die is
rolled.

b Find the probability of roHing:
ia3?
ii an event number?
i anumber greater than 17
a composite number?

(8 marks) A card is selected at random
from a normal deck of 52 cards. What is the
probability of selecting:

a a hearts card?

b ared 77

¢ an Ace card?

d a black picture card (I, K, )?




Topic test 5: Probability continued

25 (5 marks) Use the given letters to mark the 29 (3 marks) Place the letters
positions of the events below on the D, K, N and T on the
scaie: sections of this spinner
if the following probabilities
are true for one spin of it:
P(DYy=0.125
E. There will be an e-mail for you today. P(K)=0.375
V. You will eat vegetables today. P(N)=0.25
A. There will be a car accident in Sydney today. P =025

T. You will be 180 cm tall tomorrow. (4 marks) In my town, the chance of a day in
C. You will catch a cold within 6 months April being sunny is 90%.

26 (2 marks) Give an example of an event that a How many days are there in April?
might have a probability close to 10%.

| — I3 ]
T T 1

impossible even chance certain

b On how many days would you expect it to
be sunny in April?

27 (6 marks)
a For traffic lights, list all of the possible
outcomes. END OF TEST.
Use the rest of this column and the back for
extra working space.

b Explain why each outcome is not equally
likely.

¢ What is the complementary event to the
traffic lights showing green?

(8 marks) A sock drawer contains 16 white

socks, 8 grey socks, 6 brown socks and

6 green socks. One sock is chosen from the

drawer without looking,

a What is the most likely colour of this
sock?

b What event is complementary to choosing
a grey sock?

¢ What is the probability that the sock is
brown?

d What is the probability that the sock is not
brown?




Pr@ba%sﬁaty

® Time aliowed: 45 minutes.

m Part A: 20 multiple-choice gnestions (40 marks)
K Part B: 10 free-response questions (60 marks)

~ Part A
20 multiple-choice questions
2 marks each; 40 marks
Circle the correct answer.

1 How many different outcomes are possible
when a coin is tossed?
A6 B 4

c1

2 How many hearts cards are there in a normal

deck of cards?
(B 13 )

A 12
c 10 D 52,

3 What is the probability of a baby being born
on a weekday rather than on a weekend?

, 2
A _ B =

4 Which term best describes the chance of
rolling an odd number on a die?
A impossible B impfobable

@eﬁeﬁ chance D likely

5 The probability that it will rain this weekend
18 33%. What is the probablhty that 1t Wl}l
not Tain?
A 66% 7%

C 33% o61%

6 The probability of a ‘certain’ event is:

Co D 10
7 On this spinner, what is

the probability of spinning
a3or4?

A 03 B 0.7

cos @08

8 On the above spinner, what is the probability
of spinning a number greater than 67 -

' 2

A B :

C

ANSWERS
by,

9 The set of all possible outcomes of a
situation is called the: '
A experiment
B complementary event

@ sample space
D likelihood

10 What is the probabﬂi'ty that a péxson chosen

at random has a birthday in a month
beginning with J?

1 1
A B 5

o
11 What is the complementary event to ﬂramna '

azed card from a deck of cards?

A drawing a hearts or spades card

B draWing a hearts or diamonds card

C drawing a clubs or diamonds card

rawing‘a clubs or spades card

12 The lowest possible value of a probability is:

A @0
C 0.1 D1

13 Five students — - —— Henry, Irene, Jack, Kathy
and Liga wrife their names on separate cards.
One card is chosen at random. What is the

p' babﬂlty that a boy’s name is chosen?
B
D

14 One ticket is drawn out at random from a box
of Blue, orange, green, red and yellow raffle
tmkets The chance of drawing a blue ticket
is 7—5 The chance of drawing an
orange ticket i 1s 8 What is the probability

of drawmg out a blue or orange ticket?

4 ™.
TG

22
C = o

15 What is the probability that the ticket drawn
in Question 14 is not blue or orange?

47 59
A7—5 B 75

56
D =




Topic test 5: Probability continued

16 If the box in Question 14 actually contains
300 tickets, how many would you expect to
be orange?

Al B 37
C 84 D

17 Which term is different to the other three?
A probable B almost certain

nlikely - D good chance

18 There are 400 raffle tickets in a competition.
Jenny buys 8 tickets. What is the probability
that she wins first prize?

A 02 B 0.005
(oo D 0.0025

19 What is the probability Jenny doesn’t win

first prize?

A 09825 (B>0.98

C 095 D 0.9975

20 The sum of the probability of an event
occurring and the probability of the same
event not occurring is equal to:

1
Ai RO

Part B
10 free-response questions
60 marks
Show working where appropriate.

21 (6 marks) Rate each of the following events
as being: unlikely, likely, certain,
impossible or even chance.

a A double 6 comes up when you roll fwo

dice. - .
“un lf—é’ia C)/SQQ
b You driving a'car in 10 years time.
Likel N 7 ]
¢ There were cars on the Sydney Harbour
Bridge this moming.

Certodn

22 (8 marks) A jar contains 8 red lollies, 10
green lollies, 6 yeltow lollies and 6 white
lollies. One lolly is chosen at random from
the jar. Calculate as a simple fraction the
probability that the chosen lolly is:

a green e _ 3
zo 3

b red or green

i 3
| 5
e blue

O

d not white _’__2,(_'*.__ A
o >
23 (10 marks)
a List all possible outcomes when a die is

rolled. }/ _9_, %/ Li_/ s b

b Find the probability of rolling:
ia3? Ve

ii an evenflaumber? Y2 _

iif a number greater than 1? 5/&

iv a composite number? 2/ =1-

3

24 (8 marks) A card is selected at random
from a normat deck of 52 cards. What is the
probability of selecting:

a aheasrts card? {3 i
32 T
b ared 7? o
ST 2

¢ an Ace card? & o
S T 3

d a black picture card (I, K, Q)?
L _ 3

- e

52 7 3¢

el st L e s i

IS TN B

e ar 1 e,



Topic test 5: Probability continued

25 (5 marks) Use the given letters to mark the
positions of the events below on the

scale: -

< | C E AV

t —Hh =

impossible event chance certain

E. There will be an e-mail for you today.

V. You will eat vegetables today.

A. There will be a car accident in Sydney today.
T. You will be 180 em tall tomorrow.

C. You will catch a cold within 6 months

26 (2 marks) Give an example of an event that
might have a probability close to 10%.

Chaose fromm nes 1-ioo
rosffle. dckals | D ploai by
ethea ™0 o {gan = [o¢
A (=]
27 {6 marks)
a For traffic lights, list all of the possible
ocutcomes. -
Cleen
Genrgye. (Amber
R oext

b Explain why cach outcome is not equally

likely. A ‘
Greengad red ore

29 (3 marks) Place the Ietters
D, K, Nand T on the

sections of this spinner b A
if the following probabilities vq

are true for one spin of it:

P(D)=0.125

P(E)=0.375

PN)=0.25

P(T)=0.25

(4 marks) Tn my town, the chance of a day in
April being sunny is 90%.

a How many days are there in April?

30

b On how many days would you expect it to
be sunmy in April?

109, 430 =27 Aads ‘

END OF TEST.

Use the rest of this column and the back for
extra working space,

%L\Ow;‘rﬂ ‘Gf:fyv NVIR Ombar — gl ééiwlj [fl:afj .

¢ What is the complementary event to the
traffic lights showing green?

Tr
Qb 50 redt.

28 (8 marks) A sock drawer contains 16. white
socks, 8 grey socks, 6 brown socks and
6 green socks. One sock is chosen from the
drawer without looking.
a What is the most likely colour of this

sock?
white

b What event is complementary to choosing -

a grey sock? pf . eving o o 4 e
browan i greea~sock,

¢ What is the probability that the sock is

brown?
. yv_o o6 ]
P(Brown) = 32 = 2

d What is the probability that the sock is not

&b@%‘c ‘\{\{9{\;}5 S:L\mw;‘f\ﬂ

brown? P(ﬁo‘(‘i)ﬂf}u&g - ( - PCBN)@A) = I"t




